2ESKREREF 207 TIILIEREH

K 4%

Ergo

1 ZH EA 2] 5727 =2 HBHRIESK
2 BN BFKXER 5 5569 =2 HHRIESK
3 ZFI EH 5B 5515 =2 EREESHK
4 =0 EF % 5494 =1 HHIESK
5 FEE IEH ;] 5420 =2 EREER
6 /E BN 2] 5408 =2 EREESK
7 Bt 1K 5B 5407 =2 HHIZEERK
8 A0 BIE % 5402 =2 EREEK
9 NE ZhiE 5 5379 =2 EREESHK
10 H{AT EE 5B 5347 =1 HHIESK
11 FEK Kt 2] 5265 =1 EREEK
12 Ht HF % 5258 =2 HHIZESK
13 &0 ME 5 5253 =2 HHIZEERK
14 L e 5B 5243 =1 HHIZEERK
15 FH —F ;] 5229 =2 ERESK
16 WA K 2] 5215 =2 EREEK
17 AT AKX % 5181 =1 HHIZESK
18 E# H—ER 5B 5168 =1 HEHIZESK
19 HEF M % 5164 =1 INIBEESK
20 RiE S5 B 5156 =1 HHIESK
21 A+ thE 5 5154 =2 HHEILESK
22 wE & B 5143 =1 ERESK
23 I &3 B 5143 =1 HHRIESK
24 FEH K B 5133 =2 FERTEAR

25 . A= i 5122 =1 REFT S AR

26 FIE K& B 5111 =1 HMHIESK
27 B8R =R B 5079 =2 REFT SR

28 H¥ EH B 5074 =2 BHIESK
29 K G&E 5 5069 =1 KEER

30 E Bz i 5063 =1 HHAIESK
31 hi EE 3] 5063 =2 I\IEEESK
32 XE & B 5052 =1 BHIESK
33 HE ZEth B 5051 =2 REFT SR

34 =5 JIEFE B 5045 =1 ERESK
35 il BA 5 5044 =1 EREER
36 Tk [Eth B 5039 =2 REFT SR

37 HEF B 5039 =1 EREEK
38 KR &8 B 5031 =2 EREEKR
39 ® R B 5011 =1 EREEK
40 KR 8K E 5000 =1 RERTE AR

41 HE FE ] 4999 =2 KESK

42 FEk HE B 4985 =1 REFT SR

43 KiE =K 5 4970 =1 KEESK

44 ¥ B 5 4968 =1 RERTE AR

45 AP EEE ] 4941 =2 BHET 28
46 ik EH B 4932 =2 HEALESK
47 WA 7 B 4922 =2 REFT SR

48 BiI —H B 4910 =2 RERTE AR

49 Fik BEH 2] 4908 =1 HEATESH
50 Fi A ey ] 4905 =1 EREER
51 EAR BK E:] 4904 =2 RERTE AR

52 FE ) 4902 =2 FERTE AR

53 WA #K 2} 4883 =1 EREERK
54 HH ZEKXHE 5 4881 =2 RERTE AR

55 #hEE 4 ] 4867 =2 J\IBEESK
56 2H FEX E:] 4864 =2 EREEK
57 MR XK 2] 4857 =1 EREEK
58 FO Bk 5 4853 =1 J\IBEE S
59 INI K 2] 4844 =1 I\IEEESK
60 Fig B ] 4834 =1 EBREER




2ES

REEEF200T)LTEEEH

K 4% y Ergo e —
61 WA A 2] 4832 =2 REFT =R
62 i EA 5B 4822 =1 HHRIESK
63 KB AN 5 4810 =1 EREEK
64 WT &Ex 5B 4808 =1 HHRIESK
65 £H EBE 58 4799 =1 KESRK
66 e B 2] 4795 =1 INIBEESK
67 g0 B 5B 4792 =1 HHIZESK
68 #eE EA 5B 4778 =1 I\IEEESK
69 ATy BB 5B 4760 =1 REFT SR
70 x5 H&—L ;] 4751 =1 J\IBEESK
71 fEaK Ei 5 4748 =2 I\IEEESK
72 B pE 5B 4747 =1 HHIZEERK
73 il L 8 4746 =2 REFT SR
74 E@ hiE 5 4743 =2 HHIZEERK
75 WA #A 5B 4740 =2 REFT = 4%
76 ZNl Kih 2] 4715 =1 FERTEAR
77 EE B 5 4708 =1 J\IEEESK
78 = &l 5B 4699 =1 REFT SR
79 KiI 2A 5B 4684 =1 FERTEAR
80 HE BER B 4663 =1 EREER
81 ik = B 4631 =1 REFT SR
82 hiE &7k 5 4610 =1 REFT SR
83 W #sk B 4580 =1 FERTEAR
84 aR &= B 4568 =1 FERTEAR
85 FalE Eof5 i 4548 =1 FERTE AR
86 i BE 5 4472 =1 REFT SR
87 A HRE B 4268 =1 KEER
1 oiE BES g4 4892 =2 KEEKR
2 WA 38 = 4778 =2 I\IEEESK
3 B A 9 4761 =2 REFT S AR
4 ik = E-3 4757 =2 REFT SR
5 SR HE g4 4652 =1 FERTEAR
6 BEE ETF g4 4631 =2 REFT SR
7 #E ZF £ 4618 =1 REFT SR
8 HAO &% 9 4600 =2 J\IBEESK
9 BAR ##EE £ 4593 =2 REFT SR
10 Hb #% = 4586 =1 KESK
11 FMH V= 8 4574 =1 REBESK
12 =F MmiE g4 4560 =2 REFT SR
13 DE: Y = 4517 =1 ERESRK
14 MmE BER £ 4511 =2 REFT SR
15 AR EF = 4475 =2 I\IEEESK
16 B X8 g4 4458 =1 KEESK
17 ER K& = 4455 =1 KEESK
18 H¥ Eml = 4448 =2 J\IBEESK
19 RE DE E=q 4428 =1 KESK
20 r‘j# &5 = 4411 =2 EREEKR
21 Es HNDY £ 4404 =2 REFT SR
22 i BEf g4 4403 =1 KESK
23 B it £y 4402 =1 RERTE AR
24 {EFT DIFEH 'S 4401 =1 KESK
25 @l T & 8 4387 =1 RERTE AR
26 EX # g4 4376 =1 RERTE AR
27 BT XFH g4 4360 =2 J\IBEEER
28 Fik BE = 4341 =1 RERTE AR
29 ® BT 3 4339 =2 KESK
30 8 2 = 4329 =2 I\IEEESK
31 i 55 g4 4326 =1 RIEEBESK
32 FHE EE £ 4322 =1 REFT SR
33 =5t B =S 4303 =2 RERTE AR




2ESKREREF 207 TIILIEREH

K 4 y Ergo s, =
34 BT 'S 4297 =2 FERTEAR
35 ==F S > g 4295 =1 J\IEEESK
36 1A BHAF g4 4277 =2 FERTEAR
37 BmH BE g 4271 =1 REFT =R
38 EX E& £y 4266 =1 REFT = 4%
39 & BE 'S 4264 =2 I\IEEESK
40 Eik WHE 8 4261 =1 EREESHK
41 T8 St 8 4260 =1 REFT SR
42 #H EMm 8 4257 =1 FERTEAR
43 B [FoH £y 4252 =2 J\IBEESK
44 HO F& T 4251 =2 EREER
45 UK FEL T 4250 =1 FERTEAR
46 AlA H1E 8 4247 =1 I\IEEESK
47 K& Ein g4 4247 =1 FERTE AR
48 58 EKX £y 4238 =1 FERTE AR
49 HE THE 'S 4234 =1 REFT SR
50 EN BE 8 4201 =1 EREESHK
51 /hFlth EH 8 4194 =2 REFT SR
52 EE BEi 8 4162 =1 EREESHK
53 BE IF £y 4139 =1 REFT = 4%
54 H —%F E-q 4133 =1 ERESK
55 PO Imic 8 4108 =1 FERTEAR
56 miE Ek = 4049 =1 I\IEEESK
57 FE BE g4 4038 =1 FERTEAR
58 (LA BETY = 3964 =1 I\IEEESK
59 5E #t £ 3870 =1 FERTEAR



